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1 [EX T REIET  |#R SERIMDERIE[ T -1764 36,582 26,808 5 2 169 40
2 |&EX T EE) BT | AR SERIh D ERIEE[ I -1765 23,227 11,061 6 5 49 42
3|ER S EEIET R SERIh D EREE| T -1781 16,054 7,720 6 4 53 41
4 |ER HEEIET |{EH SERIb D EREE[ T -1782 19,575 4,796 16 7 50 47
5 |&EAK HEEJIET (@ SERHb D ERIE| T -1808 40,031 24,522 10 5 82 35
6 |EBA HEEJIET /I SERIh DR T-7413 26,167 19,622 2 2 174 37
JAEE: HEE)IET | FH SERIb D ERE[ T-7513 18,706 10,039 3 3 60 41
8 |ER EEINEE R SERIh O ERIE| T-7516 8,520 3,246 2 2 23 37
9 |EX S EEIET R SERIh DR T-7536 18,171 10,919 3 1 75 35
10 [EK T RE)IET | i SERIh D FRiE| T -7548 20,281 11,297 4 3 74 43
11 [EX HEEIET | FH SERIh D BRIE| T -7551 14,493 9,522 3 1 74 43
12 [EX T REIET  |#R SERIh D ERIE[ T-7578 6,832 4,076 5 3 54 42




